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a. What is the maximum height?

(1.530) x36H

Name: Period:
< | §¢Ivmg Quadratics by Projectile Motion CYU FOUR
‘ ' % Use when you get it right all by yaurseff ‘
S Use when you did :t all by yburseif but made a silly mfstake
Il Use when you could do it alone with a little help from teacher or peer
G Use when you completed the probiem ina group
I Use when a question wasattempted but wrong (get help) .
 NUse when a question was not even attgmp_ted - ' /
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I. Fourth way: Projectile Motion.
1. An athlete can kick a football from the ground
with an initial velocity of 48 feet per second.
The height from the ground in feet can be found 50
WMOW using the function f(x) = -16x% + 48x, where x is
0 the time in seconds. 45
Create a table:
& 40
X (0] | 2 =8
4 0[32]32 ] © B
0 Create a graph and answer the questions: 30
SO 25
20
15

b. When does it reach its max height?

xS sec

c. When does it hit the ground?

& 3 S

d. Where is it at 1 second?

32 Pt

2. A liff diver, drops into the water from a height
of 225 feét. The height from the ground in feet
can be found using the function y = - 16x> + 225,
where x is the time in seconds.

WW\%O \N Create a table:

X 0 ( < | 3
1 225 [zoq |1l | ¥1
5 Create a graph and answer the questions:
O a. What is his maximum height?
300 oSy~ Aas ¥t
b. When does he reach his max height?
25 O S¢S

c. When does he hit the ground?

(315,0) 3.1 S(K<S

d. Where is he at 1 second?

204 £+

10




3. A ball rolls off a roof 4 meters high. The height from
the roof can be found using the function
A \/\) f(x) = -4.9% + 4, where x is the time in seconds.
\NW\ 0 Create a table: 2
~10 Y I o[ T 1T ZT13 19
\ D ‘:(, K FO.091-15.6 |-40.11-7¢ 4

Create a graph and answer the questions:

w

i 7 a. What is the maximum height?

g (o4) Uim

b. When does it reach its max height?

O sS ‘

¢. When does it hit the ground?

(034,00 x0.904 seLs

d. Where is it at 1 second? 02 04 0.6 08 1.0

x-0.00

4. A golf ball is hit from the ground with an

(3%

L]
b

initial velocity of 39.2 meters per second. e O R
\ = The height from the ground in meters : ? 4 ; %ﬁ“'wg :
A(1 O/ can be found using the function R S e e e S T e o e y § #1
i f(x) = -4.9x% + 39.2x, where x is the time in - ? i : : .
seconds. 60
: Create a table: ”
, T — 50
™ . i 40 i
Create a graph and answer the questions: T
o a. What is the maximum height? BEEY :
- b. When does it reach its max height? 20 : , \ \_ ]
c. When does it hit the ground? 10 [oieit SRS S MRS S :
i A : et ' 0 X ! S PR : ' = i3
d. What is the height at 2 seconds? . '3 4 5 B 7 8 9 10
5 A soccer ball is kicked from the ground with
*  an initial velocity of 49 meters per second. N 1 e
The height from the ground in meters can be S
d found using the equation y = -4.9x% + 49x, B e e e i
\/\/\V\ O\N where x is the time in seconds. )
O Create a table: N i
D X 1O < e ; % |
| Y 1 & M1 [Te.a[ 0z 0z.el7.
o T
U7.LI0ZJ 7838 [} =
\ ‘0 D a. What is the maximum height?
(5123) > 2123
l D b. When does it reach its max height?
S sets EEERY
c. When does it hit the ground?
bk

(10,0) )0 SeLS

d. What is the height at 3 seconds and

34 5
7 seconds? Why is it the same? ,DZ_C[M“’ 30’\47 7‘ % ba(/u ¢




6. A flare is launched from a life raft with an initial
velocity of 144 feet per second. The height from 400,

the ground in feet, h, can be found using the L
: function h(t) = -16t?+ 144t + 0, where t is the 350 |
Al time in seconds. E: R
¥ A Create a table: 300+ LA PN
N
3 I T 6 iZ8 [Zalzssl20 52 2501 g X
r s # -
7 z S 200} A\
, 2R 1227 112X | © - 4 -
; g ‘50, % e S i 3 i A ol
S Create a graph and answer the questions: E ESE AN
x V a. What is the maximum height? : 100 [} EEL
: (4.5324) > MY =« HH
b. When does it reach its max height? g“ T - < EEEEEPE
R R B R B N T)
c. When does it hit the ground?
3 h: ¢ l @ Y | = = = - A ‘t,
w}f‘
7 A model rocket will be launched into the ocean 200+ fﬁ/
* from a hill 80 feet above sea level. Its initial - PAES
velocity is 64 feet per second. The rocket's 180 5 -
W\v\dO V\/ distance s, above sea level at any time, t, is 160+
2 found by the equation s=-16¢" + 647 +80. 140k
= g Create a table: vl
W/ X101 1 e X 1.5 s
3 R iz 144 [ 12gl W0 | & 100
O a. What is the maximum height? - i
\ i
200 C‘ZIMLD/ > | = -
-~ b. When does it reach its max height? L
IV - 201 -
Z- f}ec" 'Eb B ’{' : i 1 i ' i
c. When does it hit the ground? = g SR S
s SelS

d. What is its height at 1 and 3 seconds? Why is it the same?

28 \acned Tt cows back

CYU Reflection: How far can you go: basic, intermediate, or advanced?

Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the score you would give yourself.

—0—6—90 0 0090
1= 28 i3 & 1 TS

Basic Intermediate Advanced Solved ALL!

e B R i e G




